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V
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V

810

810

810

810

810

810
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∑

∑

∑

˙ Jœ ˙# jœ
∑

∑

p

%=45\

∑

∑

∑

˙# jœ .œ# .œ2

∑

∑

∑

∑

∑
˙# jœ# .œ .œ

2

∑

∑

P

∑

∑

∑

.œ .œ# .œ# .œb2 2

∑

∑

&

&

V
?

?

V
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5 ∑

∑

˙ Jœ ˙# jœ

œ Œ ‰ ˙ jœ
∑

5 ∑

p

p

∑

˙ Jœ .œ# œ

˙# Jœ .œ# .œ2

˙# Jœ ˙# jœ
∑

∑

p

∑
˙ Jœ .œ# .œ2

˙# Jœ .œ .œ#
2

.œ# .œ# ˙ Jœ
2

∑

∑

∑
.œ# .œ .œ .œ#
2 2

.œ .œ# .œ .œ
2 2

.œ# .œ .œ .œb
2 2

∑

∑

rit.
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&

&

&

V
?

?

V

�����
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9 ∑
˙ ‰ Ó ‰

Ó ‰ ˙ Jœ
˙ ‰ ˙ Jœ

˙ Jœ ˙# jœ
˙ Jœ ˙# jœ

9 ∑

p

p

p

p

a tempo

˙ Jœ ˙ Jœ#

˙ jœ ˙ jœ#
˙# jœ ˙# Jœ
˙# jœ ˙# Jœ

˙# jœ .œ# .œ2

˙# jœ .œ# .œ2

∑

p

p cresc.

cresc.

cresc.

cresc.

cresc.

cresc.

.œ# .œ# .œ .œ
2 2

.œ# .œ .œ .œ2 2

.œ# .œ ˙# jœ
2

.œ# .œ ˙# Jœ
2

˙# jœ# .œ .œ
2

˙# jœ# .œ .œ
2

∑

.œ# œ .œ œ

.œ# œ .œ œ

.œ .œ .œ# .œ2

2

.œ .œ .œ# .œ
2 2

˙ Jœ .œ# .œb2

˙ Jœ .œ# .œb2

∑

&

&

&

V
?

?

V
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13 ˙ Jœ ˙# Jœ

˙ jœ ˙#
jœ

˙ ‰ ˙#
jœ

˙ ‰ Ó ‰

˙ ‰ ˙ Jœ

˙ ‰ ˙ Jœ
13 ˙̇̇

˙gggggg
‰ œ œ œ œ# œ

F

F

F

F

F

F

˙# Jœ .œ# .œ#
2

˙# jœ .œ# .œ#2

˙# jœ .œ# .œ#2

˙# jœ ˙# jœ#
˙# jœ ˙# jœ#
˙# jœ ˙ jœ
œ# œ œ# œ# œ œ# œ# œ# œ# œ

F

cresc.

cresc.

cresc.

cresc.

cresc.

cresc.

cresc.

.œ .œn .œ# .œ#
2 2

.œ .œn .œ# .œ#
2

2

.œ .œn .œ# .œ#
2

2

˙# Jœ .œ# .œ#
2

.œ# .œ# ˙# Jœ#
2

.œ# .œ# ˙# Jœ#
2

œ# œ# œ œ# œ# œ# œ# œ œ# œ#

jœ ˙#
Jœ# œ œb œb œn œ

jœ ˙# jœ# œ œb œb œn œ
jœ ˙# jœ# œ œb œb œn œ
˙# Jœ# ..œœ# ..œœ#

2

.œ .œ .œ# .œ#
2 2

.œ .œ .œ# .œ#
2 2œ#- œ# œ œ œ# œ# œ# œ# œ# œ#

rit.

f

f

f
f

f

f

f
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&

&

&

&

V

V
?

?

V

81

81

81

81

81

81

81

81

81

810

810

810

810

810

810

810

810

810
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17 .œ Œ Œ . Œ

∑

˙ jœb ˙ jœb
˙ jœb ˙ jœb
‰ Jœœ̄ Jœœ̄ Jœœ̄ ‰ ‰ Jœœb

¯
Jœœ̄ Jœœ̄ ‰

‰ jœœ<
jœœ<
jœœ< ‰ ‰ jœœ<

jœœ<
jœœ< ‰

˙ Jœb ˙ Jœb

∑
17 ∑

pp

pp pp

pp pp

pp pp

pp pp
pp pp

pp

%=55\

pp

accel. ∑

∑

˙ Jœ ˙b Jœb

˙ Jœ ˙b Jœb

‰ J
œœ̄ J
œœ̄ J
œœ̄ ‰ ‰ J

œœ#¯ J
œœ̄ J

œœ̄ ‰

‰ J
œœbb ¯ J
œœ̄ J
œœ̄ ‰ ‰ Jœœœ̄ Jœœœ̄ Jœœœ̄ ‰

˙ Jœ ˙b Jœb

∑

Œ Œ ‰ ‰ œ œb œ œ# œb œ œ œb œ œ œb œb3
3

3 3

pp F

pp F

pp F

pp F

pp F

pp F

∑

∑

∑

∑

∑

∑

∑

∑

∑

.œ- œb- -̇ ‰

.œ- œb- ˙#- ‰

.œ- œn- ˙n- ‰

.œ#- œb- ˙n- ‰

∑

∑

∑

∑

∑

∏

∏

∏

∏

%=45\

∑

∑

∑

∑

∑

∑

∑

∑
....œœœœ# œœœœ### ˙˙˙̇b ‰

∏

&

&

V

V
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22 ∑

∑
jœ ‰ .œ jœ<

jœ<
jœ<

jœ<
jœ
U

jœb ‰ .œ jœ<
jœ<

jœ<
jœ<

jœ
U

jœ ‰ .œ jœ< jœ< jœ< jœ< jœ
U

∑
jœb ‰ .œ jœ<

jœ<
jœ<

jœ<
jœ
U

22 Œ Œ . ‰ ‰ ‰ ‰ #U Rœb-
pp pp P

pp pp P

pp pp P

pp pp P

rit.

solo

∏

P

∏

∑

∑

∑

∑
.œ œ .œ œ

.œb œ .œ œ

.œb œ .œ œ
œ œb œ œb œb œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ
rubato

∏

∏
∏

a tempo

∑

∑

∑

∑
.œb œ .œ œ

.œb œ .œ œ

.œb œ .œ œ
œ œb œb œb œb œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ#

rit.
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25

œ. œ. œ# . œ. œ# .
œ. œ# . œ. œ. œ. œ# . œ

. œ# . œ. œ. œ# . œ. œ# . œ# . œ.

.jœ ‰ .jœ ‰ .jœ ‰ .jœ ‰

.jœ# ‰ .jœ# ‰ .Jœ ‰ .Jœ ‰

.jœ# ‰ .jœ ‰ .jœ ‰ .jœ ‰
.Jœ ‰ .Jœ ‰ .Jœ ‰ .Jœ ‰

.jœ ‰ .Jœb ‰ .Jœ ‰ .Jœ ‰

∑

∑
25 ∑

sul ponticello rit.

∏

∏

∏
∏

P

%=65\

solo

œ
≥
œb
≤
œ
≥ œb≥ œb

≤
œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ#

∑

.œ œ .œ œ

.œ œ .œ œ

.œb œ .œ œ
∑

.œb œ .œ œ

.œb œ .œ œ

∑

%=45\

∏

∏

nat. ‰ ‰ # œ œ œ œ œ# ‰ ‰ # œ œ œ œ œ

∑

∑

∑

∑

∑

∑

∑
.* * # ‰ ‰ .* * # ‰ ‰

F natural harmonics of 6th string
fret position = 8 , 7+3/4 , 6 , 5+2/5 ,3+2/5 , 2+3/4 , 1+1/2  (division)

tutti

∑

∑

∑

∑

∑

∑

∑

∑
.* *

&

&

&

&

V

V
?

?

?
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29 ∑

R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰

∑

‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰

∑

# R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰

∑

‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ #

∑
29 ‰ . # R‹ ‰ . # R‹ ‰ . # R‹ ‰ . # R‹

p

p

p

p

p

play all strings on the head of instrument

play all strings on the head of instrument

play all strings on the head of instrument

play all strings on the head of instrument

play all strings on the head of instrument

tutti

%=65\

tutti

∑

R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰

∑

‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰

∑

# R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰

∑

‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ #

∑

‰ . # R‹ ‰ . # R‹ ‰ . # R‹ ‰ . # R‹
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41
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41
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31 œœœ
b œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœb
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœ#b œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ

œœœ
bb œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œ œ œb œœ œ# # œb
31

solo
Librement%=???

solo

solo

solo

pizz.

solo

Ø

( tutti : repeat the same )

( tutti : repeat the same )

( tutti : repeat the same )

( tutti : repeat the same )

( tutti : repeat the same )

arco
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V
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41

41

41

41

41

41

41

810

810

810

810

810

810
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32 ∑

∑

∑

∑

∑
œ

32 ‰ . Rœb
solo

∑

∑

∑
.œ œ .œ œ

.œb œ .œ œ

.œb œ .œ œ
œ œb œ œb œb œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ

∏
tutti

∏

∏
tutti

rubato

%=45\ ‰ ‰ # œ œ œ
œ œ# ‰ ‰ # œ œ œ

œ œ

‰ ‰ # œ œ œ œ œ# ‰ ‰ # œ œ œ œ œ
.* * # ‰ ‰ .* * # ‰ ‰
.* * # ‰ ‰ .* * # ‰ ‰
.* * # ‰ ‰ .* * # ‰ ‰

∑
.* * # ‰ ‰ .* * # ‰ ‰

F natural harmonics of 6th string
fret position = 8 , 7+3/4 , 6 , 5+2/5 ,3+2/5 , 2+3/4 , 1+1/2  (division)

tutti

tutti

tutti

muted

muted

F

F

F
tutti

natural harmonics of 6th string
fret position = 8 , 6 , 3+2/5 (division)

natural harmonics of 6th string
fret position = 8 , 6 , 3+2/5 (division)

∑

∑
* * .*U

* * .*U

* * .*U

∑
* * .*U
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& 810 4%=45\ 4 ∑
a tempo

˙ Jœ ˙ Jœ#p cresc.

&
11 .œ# .œ# .œ .œ

2 2

.œ# œ .œ œ ˙ Jœ ˙# Jœ
F

˙# Jœ .œ# .œ#
2cresc.

&
15 .œ .œn .œ# .œ#

2 2

jœ ˙#
Jœ# œ œb œb œn œrit.

f
.œ Œ Œ . Œ

pp
%=55\

accel.

&
&

81

81
810

810

18 ∑
∑

∑
∑

.œ- œb- -̇ ‰

.œ- œb- ˙#- ‰
∏
∏

%=45\

∑
∑

&
22 ∑rit. ∑

a tempo

∑ rit.

&
&

25

œ. œ. œ# . œ. œ# . œ. œ# . œ. œ. œ. œ# . œ. œ# . œ. œ. œ# . œ. œ# . œ# . œ.

.jœ ‰ .jœ ‰ .jœ ‰ .jœ ‰

sul ponticello rit.

P

%=65\

solo
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&
26 œ

≥
œb
≤
œ
≥ œb≥ œb

≤
œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ#

%=45\
nat. ‰ ‰ % œ œ œ œ œ# ‰ ‰ % œ œ œ œ œ

&
28 ∑ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰

p play all strings on the head of instrument

tutti
%=65\

R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰

&
&

41

41

31 œœœ
b œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

solo
Librement%=???

( tutti : repeat the same )

& 41 810
32 ∑ ∑%=45\ ‰ ‰ % œ œ œ

œ œ# ‰ ‰ % œ œ œ
œ œtutti

muted

&
35 ∑
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& 810 4%=45\

∑ ˙ Jœ .œ# œ
p

˙ Jœ .œ# .œ2 .œ# .œ .œ .œ#
2 2

rit.

&
&

9 ˙ ‰ Ó ‰
Ó ‰ ˙ Jœp

a tempo

˙ jœ ˙ jœ#
˙# jœ ˙# Jœ
p cresc.

cresc.

.œ# .œ .œ .œ2 2

.œ# .œ ˙# jœ
2

.œ# œ .œ œ

.œ .œ .œ# .œ2

2

&
&

13

˙ jœ ˙#
jœ

˙ ‰ ˙#
jœF

F

˙# jœ .œ# .œ#2

˙# jœ .œ# .œ#2
cresc.

cresc.

.œ .œn .œ# .œ#
2

2

.œ .œn .œ# .œ#
2

2

jœ ˙# jœ# œ œb œb œn œ
jœ ˙# jœ# œ œb œb œn œ

rit.

f
f

&
&

81

81

17

˙ jœb ˙ jœb
˙ jœb ˙ jœb
pp pp
pp pp

%=55\
accel.

˙ Jœ ˙b Jœb

˙ Jœ ˙b Jœb
pp F
pp F

&
&

81

81
810

810

19 ∑
∑

.œ- œn- ˙n- ‰

.œ#- œb- ˙n- ‰
∏

∏

%=45\

∑
∑

∑
∑

rit. ∑
∑

a tempo

∑
∑

rit.
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&
&

25 .jœ# ‰ .jœ# ‰ .Jœ ‰ .Jœ ‰

.jœ# ‰ .jœ ‰ .jœ ‰ .jœ ‰

rit.

∏
∏

%=65\

.œ œ .œ œ

.œ œ .œ œ

%=45\

∑
∑

∑
∑

&
&

29 ∑
‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰
p play all strings on the head of instrument

%=65\

tutti

∑
‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰ ‰ R‹ ‰

&
&

41

41

31 œœœb
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

solo

( tutti : repeat the same )

&
&

41

41
810

810

32 ∑
∑

∑
∑

%=45\ ‰ ‰ # œ œ œ œ œ# ‰ ‰ # œ œ œ œ œ
∑

tutti

muted

&
&

35 ∑
∑
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V 810 4%=45\

˙ Jœ ˙# jœp ˙# Jœ .œ# .œ2 ˙# Jœ .œ .œ#
2

.œ .œ# .œ .œ
2 2

rit.

V
9 ˙ ‰ ˙ Jœp

a tempo

˙# jœ ˙# Jœ
cresc.

.œ# .œ ˙# Jœ
2 .œ .œ .œ# .œ

2 2

V
13 ˙ ‰ Ó ‰ ˙# jœ ˙# jœ#Fcresc.

˙# Jœ .œ# .œ#
2

˙# Jœ# ..œœ# ..œœ#
2

rit.

f

V
V

81

81
810

810

17 ‰ Jœœ̄ Jœœ̄ Jœœ̄ ‰ ‰ Jœœb
¯
Jœœ̄ Jœœ̄ ‰

‰ jœœ<
jœœ<
jœœ< ‰ ‰ jœœ<

jœœ<
jœœ< ‰

pp pp
pp pp
%=55\

accel. ‰ J
œœ̄ J
œœ̄ J
œœ̄ ‰ ‰ J

œœ#¯ J
œœ̄ J
œœ̄ ‰

‰ J
œœbb ¯ J
œœ̄ J
œœ̄ ‰ ‰ Jœœœ̄ Jœœœ̄ Jœœœ̄ ‰

pp F
pp F

∑
∑

V
V

810

810

20 ∑
∑

%=45\

∑
∑

jœ ‰ .œ jœ<
jœ<
jœ<
jœ<
jœ
U

jœb ‰ .œ jœ< jœ< jœ< jœ< jœ
Upp ppP

pp ppP

rit.

∏

∏

∑
∑

a tempo

∑
∑

rit. .Jœ ‰ .Jœ ‰ .Jœ ‰ .Jœ ‰
.jœ ‰ .Jœb ‰ .Jœ ‰ .Jœ ‰

rit.

∏
∏

%=65\

V
26 .œb œ .œ œ
%=45\

∑ ∑
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V
29 # R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰

p play all strings on the head of instrument

%=65\

# R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰

V
V

41

41

31 œœœ#b œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ œœœ
solo

( tutti : repeat the same )

V 41 810
32 ∑ ∑%=45\ .* * # ‰ ‰ .* * # ‰ ‰F

tutti

natural harmonics of 6th string
fret position = 8 , 6 , 3+2/5 (division)

V
35 * * .*U
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? 810 ˙ Jœ ˙# jœp
%=45\

˙# jœ .œ# .œ2 ˙# jœ# .œ .œ
2P .œ .œ# .œ# .œb2 2

?5 œ Œ ‰ ˙ jœp
˙# Jœ ˙# jœ .œ# .œ# ˙ Jœ2 .œ# .œ .œ .œb

2 2

rit.

?9 ˙ Jœ ˙# jœp
a tempo

˙# jœ .œ# .œ2
cresc.

˙# jœ# .œ .œ
2

˙ Jœ .œ# .œb2

?13 ˙ ‰ ˙ JœF
˙# jœ ˙# jœ#
cresc.

.œ# .œ# ˙# Jœ#
2 .œ .œ .œ# .œ#

2 2

rit.

f

? 81 810
17 ˙ Jœb ˙ Jœbpp pp
%=55\

accel. ˙ Jœ ˙b Jœb
pp F

∑ 2%=45\

jœ ‰ .œ jœ< jœ< jœ< jœ< jœ
U

pp pp P
rit.

?
?

23 .œ œ .œ œ
.œb œ .œ œ∏

∏

a tempo

.œb œ .œ œ

.œb œ .œ œ

rit. ∑
∑

rit.%=65\

?26 .œb œ .œ œ
%=45\

∏
∑ ∑

�����

����

�����

����		


�����
������



?29 ‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ #
p play all strings on the head of instrument

%=65\

‰ # R‹ # ‰ # R‹ # ‰ # R‹ # ‰ # R‹ #

?
?

41

41

31 œœœ
bb œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ
œœœ

solo

( tutti : repeat the same )

?
?

41

41
810

810

32 ∑
∑

.œ œ .œ œ

.œb œ .œ œ
∏

tutti

∏

%=45\ .* * # ‰ ‰ .* * # ‰ ‰
.* * # ‰ ‰ .* * # ‰ ‰

F
F natural harmonics of 6th string

fret position = 8 , 6 , 3+2/5 (division)

?
?

35 * * .*U

* * .*U

�����

�����
������



? 810 4%=45\ 4 ˙ Jœ ˙# jœp
a tempo

˙# jœ .œ# .œ2

cresc.

?11 ˙# jœ# .œ .œ
2

˙ Jœ .œ# .œb2 ˙ ‰ ˙ JœF
˙# jœ ˙ jœ
cresc.

? 81
15

.œ# .œ# ˙# Jœ#
2 .œ .œ .œ# .œ#

2 2

rit.

f
∑

pp
%=55\

accel. ∑

? 81 810
19 ∑ ∑

%=45\

∑ jœb ‰ .œ jœ<
jœ<
jœ<
jœ<
jœ
U

pp pp P
rit.

?23 .œb œ .œ œ∏
a tempo

.œb œ .œ œ
rit. ∑

rit.

%=65\

?26 .œb œ .œ œ
%=45\

∏
∑ ∑ ∑

%=65\

∑

? 41 810
31 œ œ œb œ œ œ# # œb

pizz.

solo

Øarco
œ .œb œ .œ œ∏

tutti%=45\

?34 ∑ ∑
�����

����

�����

�
��	������

����������




V 810 4%=45\ 4 4a tempo

V
13 ˙̇̇

˙gggggg
‰ œ œ œ œ# œ

F
œ# œ œ# œ# œ œ# œ# œ# œ# œ

cresc.

œ# œ# œ œ# œ# œ# œ# œ œ# œ#

V 81
16 œ#- œ# œ œ œ# œ# œ# œ# œ# œ#

rit.

f
∑

%=55\

pp
accel. Œ Œ ‰ ‰ œ œb œ œ# œb œ œ œb œ œ œb œb3

3

3 3pp F

V 81 810
19 ∑ ∑

%=45\ ....œœœœ# œœœœ### ˙˙˙̇b ‰
∏

Œ Œ . ‰ ‰ ‰ ‰ #U Rœb-
rit. solo

P

V
23 œ œb œ œb œb œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ

rubato

a tempo

œ œb œb œb œb œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ#rit.

V
25 ∑

rit.

%=65\

∑
%=45\

.* * # ‰ ‰ .* * # ‰ ‰
F natural harmonics of 6th string

fret position = 8 , 7+3/4 , 6 , 5+2/5 ,3+2/5 , 2+3/4 , 1+1/2  (division)

tutti .* *

V 41 810
29 ‰ . # R‹ ‰ . # R‹ ‰ . # R‹ ‰ . # R‹
p play all strings on the head of instrument

%=65\

‰ . # R‹ ‰ . # R‹ ‰ . # R‹ ‰ . # R‹
( tutti : repeat the same )

‰ . Rœb
solo

V 810
33 œ œb œ œb œb œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ

rubato

%=45\ .* * #‰ ‰ .* * # ‰ ‰
F natural harmonics of 6th string

fret position = 8 , 7+3/4 , 6 , 5+2/5 ,3+2/5 , 2+3/4 , 1+1/2  (division)

tutti * * .*U
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